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SUMMATIVE ASSESSMENT - | - 2023 - 2024

MATHEMATICS
- o (English & Telugy Medium)
ass : IX i
i B ! (Max. Marks : 100) | Time: 3.15 Mnts.
8 AS-1 AS-2 AS-3 3 : :
e : AS-4 - ASS - GradelGrade
i "1 21-23129-30 b-8f16[24-25[31 (9101 7- 1636 (17 [1935] 12200233 Al
- 7582~ 01
Markd [ R
F]"ntal — ()l;‘»l»l‘ 1,",1'1]-:)]
L B
N.:m( of the studcnt .......... dosssttnsanensassaanse I 9 sdibeanin Rull Numlur ..........
lnstructmns : wJ‘U‘JCD P R T
(5 I. In the duration of 3hrs, 15 min, first 15min of time is allotted (o
read the question paper.,
5 3fion 15 DTG’ G 15 ANy BEySE LD B
! Blronoundss.
2. Answer all the questions.
VR DEFGTSB0en Dk AG5RAS BB EHB S0 S e BsB s
3. There are 4 sections and 33 questions,
& DBT{SS0S* 4 darmrey 56050 33 Do o),
i 4. There is an mtemal choice in Section-1V only,
-1’»3 ; Qertio - IV & Qoéo Sor(e83d0 WoSEE J0HERD wis do K,
’ : 5. Every answer shduld be written legibly and neatly.

OF) PErTasne S, HEET @absDs.

SECTION -1

i,ﬁ : Y B .
E Notg: - 1. Answer all questions in one WORD or PHRASE.
3‘ iy : & Eob o) PHoH wE Sdo TE TEd’ HErESe Tabod.
: A 2.- Each question carries one mark. 12x1=12
©3 @95 a8 Sty |

1. Find the value of 32§.

2. Ifp(x)= x — 1 then the value of p(-1) =

I T ,’.; p(x) x — 1 ©ond p(-l)- oo
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. W 2
3. Supplementary angle of 80%4s [ ]
80° B0y JodrsE o _____— |
A) 10° B)20° . ©O)60° D) 100°
4. The sum of the abscissa and ordinate of a point of intersection
of coordinate axes is Al
QEXHE WFL POBS DoY) Bk, HED 00052 AT
QIO Ingo
20247 - 2023°

3. 2024 +2023
6. The number of solutions of linear equation

0.2x +100 =0 s [ 9]

Do dMEGwo 0.2x + 100 =0 308, e Lomg :

A)O- B) 1 C)?2 D) Infinite
©50¢0

7. Which of the following is not correct? [ ]
8od TBS JOTIO WB?
A) 0.25 is terminating decimal
0.25 @odHdog da0do
B) 1.3333...1s non terminating recurring decimal
1.3333... @080 5 wHYBHSBog EF0F0
C) 1.121231234.... is non terminating recurring decimal
1121231234... ©080 50 wHyBSchg dFT0T0
D) 1.234....isnon terminating and non-recurring decimal
1.234... wo&o 5°Q, wdHBo 5 3090
2 ‘Assertion(A): If AB=PQand PQ=XY,then AB S
>55 (A): AB = PQ %0050 PQ = XY, @oaoes,ég = XY
Reasons (R):  According to Euclid’s Ist axiom- “Things
" . which are equal to the same thing are also equal
' tooneanother”. [ i
oo (R) : oS08 6 SRS AR Teoale T LIRS 2
it g TRl HEFERN TP LETIEES dSrTen”.
A) Both A and R are correct and R is the correct explanation for A
T 0Bk S Dol Bg0, TGO WIB TES Bk, TS

- [ Contd... 3rd
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B) Both A and R are correct and R is not the correct explanation for A
TS Bobosw 5 Seoo Body Ségo, 80 WBE TS Dok, &3«5

DO B S
C) Ais true but the R is false
TEE SEgo 5 5°6wo @HEgo
D) A is false but the R is true
TES wdEgo B 5 60 HEgo
9. Express x + | =2y in the form of ax + by +¢ =0
BogBeasn x4 1 =2y % ax + by + ¢ =0 drhos* Hghosod.
10. The word ‘geometry’,comes from the Greek words ‘geo’ and
‘metrein’, Here ‘geo’ means
argBoEd’ (geometry) @¥s wolf HEo ‘e’ (geo) HaBosn Bar s wib
Bigo Bare oo (Kfirowwdod. Q) ¢ ‘WA (geo) widm L
11. Match the following. [lt g
e HGSod.
1) (3,23) a) Ql
i) (=2, -2) by Q2
i) (1, 1) c) Q3
V) (=5,5) d) Q4
CA)i-d,ii-c,iii-b,iv-a
C)i-d,ii-c,iii-a,iv-b
12, Draw a rough diagram of Cartesian plane.
: S"gaeonS oo By D&y HLo Ho$0d.
SECTION - 11

B)i-b,ii-a,iii~d,iv-c
D)i-d,ii-b,iii-d,iv-a

Note: . 1. Answer all questions. y
Bod ©) HHH S SErFISNeD 0508,

" 2. Each question carries two marks.
_ 98 ®H 5 Todd Jrdy .
13, Find the zero of the polynomial
'axﬁf):ﬁ 2T0HEe G0, Frarge0” é&’ng‘bo&

1) p(x) =3x+5 i) p(y) =3y
'14. Find the sum and product of the coefﬁonents of x and y of
y=-2x=1=0",
$DoEEe6 y 2%~ 1 = 0 G308, X S08cHo y riaeas‘o a:oééw :3360533
i e:go s‘«‘&o&‘bo& A e
i il L b [Turn Over
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15.

16.

17.

18.

19

- 20.

Note :

4

Find two rational numbers between 3 and 4.
3 BB 4 Iy Tot wESBosh Qogen éf&:%o&
Classify the following numbers as rational and irrational

08 TES" wESBaH Bomguss, Kb dopgods 56580808,
V32, V225, 7.4777777... and 1.101001000100001...

Write suitable Euclid's axiom for the statement "If x = y. then

X+2=y+2"

X=y 0ond X +2=y+ 2 ehHd” o PSBTAE SAS sl
ITrIg rS88 v aSod.

Shahid wants to burn 200 kilo calories in 4 day doing physical activity.
He spend 2 minutes for running and 3 minutes for running up stairs for
burning kilo calories in a day.

Write a linear equation for the above situation.
XSrE TOSE @5 VAT 28 Fares® 200 86° Fobew BRoTORLOLTYE.
& e Sers® §8° Tobosh $NowHE S As, HONGTE 2 Joaren
£oB0%0 Todn P8 HOASE IS 3 dDodrer Y. P HodTHIE EAS
SHODH HAEEETR) T°o00d. R
Find the value of ‘x’ from the adjacent

figure. | |
B, deodn Kod X' Dewdd X5y 08.

Draw a diagranﬁ for the axiom ‘If a ray stands on a line, then the
sum of two adjacent angles so formed is 180°.
‘2,€ 88030 28 HEHOPH BT, VI AEES @) Sere

3ngo 180% ol DB RE D) oS08, -

_ ~ SECTION-III
1. Answer all questions i
& 808 o) HHo% HIrFIZIW TED0A.
‘2. Each question carries four marks..
B3 BHS Toois Srdy. Lo Bxa=839

' 21, i) Multiply 6.z with 23 i) Divide 118 by /7.

6\/5;\,132\/55‘; KoeBo S0, ]ng éo\/ia P AOW0A. ’
LY - ‘ [ Contd... 5th-
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22, ' A ? { i
i\ aluate the following product without actual multiplication.
. 0580 Hohoad &obd ogod §%5Y 0d.
1) 102 x 98 i) 104 x 106
23. Find the value i
Alue of k, if x =1, y=01is ¢ i
Siuaion 3x - SoEik y = 0 is a solution of the
JFCwo 3x -8
Ix -8y =k i) i x=1,y=0 soud k
Y g&g«boa. b y =0 eoud k
" 2 Cartaclis o
24. In a Cartesian system, whether the points (3,5) and (5,3) are

same? Justify.
s Sgsie* Dodohen (3, 5) Hbakv (5, 3) S8y 7 RG0S

5*9mod* dodod,
25. In the adjacent figure, lines XY and MN s |
intersect at O. If ZPOY = 90" and
a:rb=2:3 findc. ba'-l
?'

58 Sbos’, XY $oatw MNeo 03¢ "X\
podoibhtsotnayen. £POY = 90° $0abs ¢
arb=2:3 o ¢ EEY0d.
26. Give one example for each polynomial of a i
Qob' RvHOE LE)Y), GErde aiSg0d.
i) binomial of degree 15
15 $6%rmo o B8
i) monomial of degree 3
3 H65re0 Ko JEIO
jii) linear polynomial in X
o8 $608 x & o wivRd '
iv) gu’adratic.polynomial in one variable i §
| e Sgorae* $¢ AT A i
27, Fill the blanks with suitable answers which are given below
' (deductive reasoning, Theoretms Axiom,13,3,2)
8o ad)® gdoh $0G0® wasraod Foosod.

ssparen : (NS 80, DTS, &0, 15, 8, 2
i) The number of dimensions, a solid hgs P R
Qo8 S99 @) Fodo NOR) —

NS
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ii) Euclid divided his famous treatise “The Elements” into:

chapters. _
o886 DG HoFRS ‘ QOI005)'So s
:J(ﬁaeoz:rcsa
iii) Greeks empnasi'zed on
Boen BSsare sergos TG0 (HDEFBoEE
58 S ee). '
1v) is needs a proof.

5 Q8rde @3d80.
28. Write the Co-ordinates of the vertices

y
of a Trapezium DEFG. T TR R T
Bo2oHo DEFG @), ST : |
%‘g;o AEFI5TON TroHod. , 1 : g E
e ,

SECTION -1V
Note: ' 1. Answer all questions.
80d ) (%) 0N ISrFISne Tebob.
2. Each question carries eight marks. , |
B8 BH X DD Sy . ‘ :
3. There s an internal choice for each question, Sx8=40
©8 @ﬁ& @oége‘i QODE ok, |

29. a) Ratlonahse tthenommator of 743 J— s
743402 J- @aos'z, szxb @56950530 60&)0&; ' 1
(01') | .

ot 0 R [Contd... Tth
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30.

31.

32.

b)

b)

Simplify :

$3§ 800508, pe Ty,
DB+3)2+2) i3B+.3)3-.3)
i) 3+ y3)° 1 iv) V3 (27 + \3)

3 3 3
Ifx-l;y+z=0,ﬁndthevalucofx——f:;,—ztz—
XDy + 23 '
X+y+Z-.—0, YoM i XY @Y, Joud s od.

(Or)
Factorise 12x> = 7x + 1.
12x% — 7x + | % s*8erosroom dRotod.
Find four different solutions of 10x —y = 2.
DEGw0 10x —y =2 & Trenrd FESen §80869 08.

(Or)
Check which of the following are solutions of the equation
x-2y=4
808 TAS* X — 2y =4 HDEET B G0 D ? WIS ?
)(0,2) i) (2,00 i1  (2.442)
In the ad_]acent figure, if AB//CD £ APQ =50° and

7z PRD =127°, find x and y.
%er065°, AB//CD,. £ APQ = 50° %2005 ZPRD'= l’>7

eaoo:;s X S0003 y o0 éxn‘é‘boé

4B

W
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b) Inthe given figure, PQ and RS are two mirrors placed parallel to each
other. An incident ray AB strikes the mirror PQ at B, the reflected ray
moves along the path BC and strikes the mirror RS at C and again
reflects back along CD. Prove that AB // CD.

Bod Bboes* PQ 5Bc%n RS efmrdEE SEroddon Eownds
- S8ymren, D8888w0 AB, PQ & B 3¢ ev8 Sorsgdo Bobod.
BoSES 880 BC Sgo froa Hosreddy $:6°8 6o RS & C
3G &8 075880 Bohod Hobasw 88wmo CD hoa (Hosredonod.
®od AB//CD @ Jd8rhowsod.
P Q

. 33. @) Represent JZ_z on the number line.
: \/ﬁ 5 c‘éozp"g‘ég)’g 2 DoS0s.
_ (Or)
b) Plot ‘th»ei following points on a graph paper.
e s'néo;;’.g 808 DoHo KHBowsod.
(2.3), (-2,4) (=3,-3), (7,3), (3,0), (0,4), (=5, 0), (0,0)



SUMMATIVE ASSESSMENT -1-2023-24
IX CLASS-MATHEMATICS-solutions

Prepared By: Balabhadra suresh

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

2
Find the value of 325.

325 = (25)§ _ 5% 92 g

If p(x) = x® — 1then the value of p(—1) =
p(-D)=(C-1)°3-1=-1-1=-2

Supplementary angle of 800is___

1000

The sum of the abscissa and ordinate of a point of intersection of coordinate axes is
04+0=0

2024%-20232
2024+2023

20247 — 20232 (2024 + 2023) x (2024 — 2023) - .
2024 + 2023 2024 + 2023 N

The number of solutions of linear equation 0.2x + 100 = 0 is
1

Which of the following is not correct?

A) 0.25 is terminating decimal

B) 1.3333.. is non terminating recurring decimal

C) 1.121231234.. is non-terminating recurring decimal

D) 1.123..... is non-terminating and non recurring decimal

C) 1.121231234.. .. is non-terminating recurring decimal is wrong

Assertion(A): If AB=PQ and PQ=XY, then AB=XY
Reason(R): According to Euclid’s 1st axiom —-“Things which are equal to the same thing are also
equal to one another”.

Sol: A) Both (A) and (R) are correct and R is the correct explanation for A

9

Sol:

10.

Sol:

Express x+1=2y in the form of ax+by+c=0.
x—2y+1=0
The word ‘geometry’ comes from the Greek words ‘geo’ and ‘metrian’. Here ‘geo’ means

‘geo’ means Earth




11. Match the following

i) (3,3) a) Q1
i) (-2,-2) b)Q2
iii) (1,1) c) Q3

iv) (-5,5) d) Q4
Sol:C) i-d; ii-c; iii-a; iv-c
12. Draw arough diagram of Cartesian plane.

Y

13. Find the zero of the polynomial i) p(x)=3x+5 ii)p(y)=3y
Sol: i) 3x+5=0

3x = -5

The zero of the polynomial p(x)=3x+5 is-5/3
ii) 3y=0
y=0

The zero of the polynomial p(y)=3yis 0

14. Find the sum and product of the coefficients of x and y of y-2x-1=0
Sol: Coefficient of x=-2

Coefficient of y=1

Sum of the coefficients of x and y=-24+1=-1

Product of the coefficients of x and y=-2x1=-2

15. Find two rational numbers between 3 and 4.




3x3 4x3 9 12 9 10 11 12

1x3 “Ix3 3°37°3°3°3°73

So0l:3 < 4>

16. Classify the following numbers as rational and irrational.
V32,V225,7.4777777 ...and 1.10100100010001 ....

Sol:V32 - Irrational number

V225 = 15 - Rational number

74777777 ... = 7.47 - Rational number

1.10100100010001 .... = Irrational number
17. Write suitable Euclid’s axiom for the statement “If x=y then x+2=y+2"
Sol: If equals are added to equals, the wholes are equal.

18. Shahid wants to burn 200 kilo calories in a day doing physical activity. He spend 2 minutes for
running and 3 minutes for running up stairs for burning kilo calories in a day. Write a linear
equation for the above situation.

Sol: Let running =x times , and for running upstairs=y times
The required linear equation is 2x+3y=200
19. Find the value of ‘X’ from the adjacent figure.

Sol: x + 2x + 3x + 2x = 360 (Complete angle)

8x = 360
_360_45
B =

20. Draw a diagram for the axiom ‘If a ray stands on a line, then the sum
of two adjacent angles so formed is 180°.

Sol: C

Z/A0C+/B0OC=1800
21. i) Multiply 6v/2 with 2v/3 ii) Divide 11vV8 by v2

Sol: i) 6V2 x 2V3=6x2xv2 xV3=12xV6=12V6 (Vaxvb=ab)




22,

Sol:

23.

Sol:

24,

11V8 11 xV4x+2
V2 V2

Evaluate the following product without actual multiplication i) 102x98 ii)104x106

=11x2=22

ii)

(a+hb)(a—b) =a?-b?*a=100,b=2

102 x 98 = (100 + 2)(100 — 2) = (100)? — (2)? = 10000 — 4 = 9996
i)(x + a)(x + b) =x?> + (a + b)x + ab;x =100,a=3,b=7

104 x 106 = (100 + 4)(100 + 6) = (100)> + (4 + 6)(100) + 4x 6
= 10000 + 1000 + 24 = 11024

Find the value of k, if x=1,y=0 is a solution of the equation 3x-8y=k

Given equation: 3x — 8y = k

ifx =1,y = 0 is a solution of the given equation then

3x1-8x0 =k

3—0=k

k=3

In a Cartesian system, whether the points (3,5) and (5,3) are same ? Justify.

Sol: The points (3,5) and (5,3) are not same. The distance between (3,5) and x- axis is 5 units and

25.

Sol: a:b=2:3

26.

The distance between (5,3) and x- axis is 3 units

In the adjacent figure, lines XY and MN intersect at O. If Z/POY=90%anda:b=2:3, find c.

Leta =2xand b = 3x M\

900 /<
a+b=90°:2x+3x=90°:>5x=90°=>x=T=18°
a=2x=2x18"=36%and b = 3x = 3 x 18° = 54°

b + c = 180° (Linear pair)

54°% + ¢ = 180°
c =180° — 540
g =126"

Give one example for each polynomial of a
i) binomial of degree 15

ii) monomial of degree 3

iii) Linear polynomial in x.

iv) quadratic polynomial in one variable.

Sol: 1) 3x1° + 2 ii) 3x® iii) 2x+ 5 iv) 2x* +3x—8

27.

Fill the blanks with suitable answers which are given below.
(deductive reasoning, Theorem,Axiom,13,3,2)




i) The number of dimensions, a solid has __

ii) Euclid divided his famous treatise “The elements” into __chapters
iif) Greeks emphasized on__

iv)_______isneedsa proof.

Sol: i) 3ii) 13 iii) deductive reasoning iv) Theorem.

28. Write the coordinates of the vertices of a Trapezium DEFG.

J
4
D E

3 [

P

1

H
2 -1 0 1 2 3 4 5 6 7 8
1 \r
G

-2

Sol: D=(1,3); E=(5,3); F=(7,-1); G=(1,-1)

29. a) Rationalise the denominator of L.
7+3V2

Sol: Rationalise factorof 7 + 3vV2 = 7 — 3V2
11 ><7—3\/7_ 7-3V2  7-3V2 7-32 7-3V2
7L 32 74342 7_3ﬁ_(7)z_(3ﬁ)2_49—9x2_49—18_ 31

b) Simplify i) (3 +V3)(2+v2)10)(3 +V3)(3 - V3) iii) (3 +V3)  iv) V3(V27 +3)

Sol:i) (3++3)(2+v2)
=3x243xV2+V3x2+/3x+2
=6+3V2+2V3++6

ii) (a+ b)(a—b) = a? — b?
(3++v3)(3-+3)
- - (V3)
=9-3=6
iii) (a + b)? = a? + 2ab + b*?
(3+v3) =32 +2x3xV3+(V3)
=9+6V3+3

=12+6V3
iv) V3(V27 +V3) = V3 x V27 + V3 x V3




=81 +9
=94+3=12
. x3+y3+z3
30 a)Ifx+y+z=0,find thevalueofT
Sol:If x+y+z=0thenx®+y3+ 2% =3xyz
x3+y3+23 _3xyz_3

xXyzZ xXyzZ 12 x1
b) Factorise 12x* — 7x + 1 =~ >1<2

Sol: 12x%- 7x + 1 PN
= 12x%- 3x —4x + 1 r i

=3x(4x—-1)—-14x— 1) \_-:,_7\/

=({4x—-—1)Bx—-1)

31. a) Find four dif ferent solutions of the equation 10x —y =2

Sol: Given equation x + 2y = 6. ([ Net#w=2 =210%x2—-y=6
(i) Letx=0=210x0—y=6 =20~y = 2
S0—y=2 ==y =2-20
=Dy =-—2 = —y=-18
(0,—2) is a solution. =y =18
(ii) Letx=1=>10x1—-y=6 (2,18)is a solution.
=210—-y=2 (it) Letx=3 210x3—-y=6
= —y=2-10 =30—y=2
= —y =—8 =-y=2-30
=>y=28 = —y=-28
(1,8) is a solution. =>y=28
(3,28) is a solution.

Four different solutions of 10x — y = 2 are (0, —2), (1,8), (2,18) and (3,28)
b) Check which of the following are solutions of the equation x-2y=4
i) (0,2) ii) (2,0) iii) (1,1) iv) (VZ,4V2)
Sol: (i)(0,2)
LHS=x-2y=0—-2%x2=0—4=—4+RHS
=~ (0, 2) is not a solution to the equation.
(i) (2,0)

LHS=x-2y=2-2%x0=2—-0=2=RHS




~ (2,0) is not a solution to the equation.

(iii) (4,0)

LHS=x-2y=4—-2%x0=4—-0=4=RHS

= (4,0) is a solution to the equation

(iv) (vV2,4V2)

LHS = x- 2y = V2 — 2 X 4V2 = V2 + 8V2 = 9V2 # RHS
( V2, 4\/2) is not a solution to the equation.

32. a) In the adjacent figure, if AB ||CD , ZAPQ=50° and ZPRD=1279, find x and y.

IJ; >

Sol: AB || CD and PQ is transversal
x = 50°(Alternate interior angles)
AB || CD and PR is transversal
y + 50° = 127°(Alternate interior angles)
y = 127 —50¢ = 77°
b) In the given Fig.PQ and RS are two mirrors placed parallel to each other. An incident ray AB strikes

the mirror PQ at B, the reflected ray moves along the path BC and strikes the mirror RS at C and again
reflects back along CD. Prove that AB || CD.

Sol: Draw BL and CM perpendicular to PQ

BL || CM and BC is transversal e P __________ i l ’5 ___________________________________________ DL i A ?\
2LBC = £MCB — (1)( Alternate interior angles) /
D
But Angle of incidence = Angle of reflection ,\/
/ABL = /LBC and /MCB = /ZMCD - (2)
From (1) and (2 < . y : >
@ @ R L C S

2ABL = 2£MCD - (3)
(1) + (3) = «LBC + £ABL = £MCB + £MCD
£ABC = £BCD
Pair of alternate interior angles are equal
~ AB || CD
33. a) Represent /4.2 on the number line




Sol:a)

1. Draw AK=15 cm

2. Mark B,C on AK such that AB=4.2 and AC=AB+1=4.24+1=5.2cm
3. Draw perpendicular bisector to AC intersect at O.

4. Draw semicircle on AK with centre O and radius OA.

5. Draw perpendicular line through B to AK intersect semicircle at D.

7. Draw an arc with centre B and radius BD intersect BK at P. P represents V4.2

Ac > 4. 20 508 1¢ ﬁP ;
b) Plot the following points on a graph paper.
(2,3), (-2,4), (-3,-3), (7,3), (3,0), (0,4), (-5,0), (0,0)
Sol:
A
6
5
.(-2, 4) 4“(O, 4)
. .(2, 3) .(7, 3)
2
1
-6 —’5(5’—2) -3 -2 —10H 111112 3(3’(1) ST
-1
-2
Plgalscu S sEe
-4




